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LMS_R17M3-Zapfen-Empfindlichkeit  y−max(λ)=1
s−R17M3,1(λ)=B31x
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−
R17M3,1(λ)

+B33z
−

R17M3,1(λ)
B3j 0,000 0,000 0,7999 λ=440

D65:Σs−R17M3,1(λ)=21,93
xR17M3,1=0,2918
yR17M3,1=0,3048



BG590−3A_1

Wellenlänge λ /nm
400 500 600 700

0,0

   

1,0

   

2,0

LMS_R17M3-Zapfen-Empfindlichkeit  y−max(λ)=1
s−R17M3,1(λ)=B31x

−
R17M3,1(λ)+B32y

−
R17M3,1(λ)

+B33z
−

R17M3,1(λ)
B3j 0,000 0,000 0,7999 λ=440

D50:Σs−R17M3,1(λ)=16,71
xR17M3,1=0,3201
yR17M3,1=0,3369
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P40:Σs−R17M3,1(λ)=13,70
xR17M3,1=0,3500
yR17M3,1=0,3566
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A00:Σs−R17M3,1(λ)=8,10
xR17M3,1=0,4127
yR17M3,1=0,3983
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E00:Σs−R17M3,1(λ)=21,18
xR17M3,1=0,3076
yR17M3,1=0,3076



BG590−3A_1

Wellenlänge λ /nm
400 500 600 700

0,0

   

1,0

   

2,0

LMS_R17M3-Zapfen-Empfindlichkeit  y−max(λ)=1
s−R17M3,1(λ)=B31x

−
R17M3,1(λ)+B32y

−
R17M3,1(λ)

+B33z
−

R17M3,1(λ)
B3j 0,000 0,000 0,7999 λ=440

C00:Σs−R17M3,1(λ)=22,73
xR17M3,1=0,2904
yR17M3,1=0,2946
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P00:Σs−R17M3,1(λ)=17,36
xR17M3,1=0,3311
yR17M3,1=0,3303
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Q00:Σs−R17M3,1(λ)=25,95
xR17M3,1=0,2854
yR17M3,1=0,2831


